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QUESTION 1

A routing policy administrator needs to create a policy that enables Session Manager to route to different destination
based on different conditions. Time of day is one such condition. Which two Parameters may also be used by Session
Manager when selecting the applicable routing policy? (Choose two.)

A. the location of the calling party

B. the registration state of the destination

C. the SIP domain of the called party

D. the origination or termination application sequences that will be applied to call, ignoring what the applications
themselves may do

Correct Answer: AC

QUESTION 2

Why is FQDN resolution important between Session Manager and System Manager when the FODN is unresolvable to
either the Session Manager or System Manager?

A. Session Manager node registration will fail during installation and data will not be replicated from System Manager to
Session Manager.

B. System Manager node registration will fail during installation and data will not be replicated from System Manager to
Session Manager.

C. Session Manager node registration will fail during installation and data will not be replicated from Session Manager to
System Manager.

D. Trust management will fail during installation and data will not be replicated from Session Manager to System
Manager.

Correct Answer: A

QUESTION 3

A technician is tasked with creating a set of Routing Policies for the organization. Which statement describes the steps
that must be taken prior to defining a new Routing Policy?

A. A SIP entity must be specified as both a destination and as an origination point. You must provide the times of day
that the policy applies, and a dial pattern or regular expression that the call URI must match.

B. The destination SIP entity can either be chosen specifically, or it may be selected implicitly using a matching
expression. Multiple times of day the policy is active can be chosen. The policy must have either a dial pattern or regular
expression.

C. A dial pattern must be specified which the called party in the SIP message is matched against. Inclusion of a time
range, or regular expression, is optional but recommended since it makes the policy more specific.
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D. A SIP Entity must be specified as a destination.

Correct Answer: C

QUESTION 4
What is the benefit of using the Communication Profile Editor to modify users?
A. It allows an administrator to change some values of a User Profile for multiple SIP users at one time.

B. It allows an administrator to change the values of the Session Manager Profile settings for only a single SIP System
Manager user at one time.

C. It allows an administrator to change some values of the Communication Profile settings for multiple SIP System
Manager Users at one time.

D. It allows an administrator to change all values of a User Profile for multiple users at one time.

Correct Answer: B

QUESTION 5

The System Manager administrator must consider the implications of restoring System Manager Data. Which two
restore-from-backup statements are true? (Choose two.)

A. The restore operation will terminate all SIP sessions, and no SIP services will be available until the operation
completes.

B. The restore operation will take a varying amount of time depending on the amount of data.
C. The restore operation will be scheduled for a time when the network is not busy.
D. The restore operation will over-write all System Manager data held in the repository.

Correct Answer: BC
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